
HoMe NORK 
10h1|40 
Mond Wod Problem 98 

5D ung class pchtcRama bauht 
o packet of chips fo a5.50,0 

Colke fo n 36.A5 and o chocolote

tOTiO. Houo ren_much mone 

did she spend 2 
Ars Cost ofapacket dlchips -5.50 

Cost of a coke 6 15 

Cost dE o chocolate- 210.00o 
lata money spend by Qama25.B0t 

230. a5 + 10.c0TtiIS 



A16 15 
Romo spentT1 TS 

GRodha uas havino iA,000 She 

boughtO dness fon G,60 

Hot much mo ney does_She bave 

nOuw_ 

fhArnount a money Radhahad:21000

Cost of he doess- 259a,B0 

Amaunt moneL she hod now 

21,000.g0 - 599, 50 Ya.so 
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Romo hod 100 50 nouO 
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